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BANIERE | SR A TRA T HA AT | ARE R RE TR ER N ol BN PN ¥4 TRA TR
Ll HAN 507 509 1,076 PE HAN 2,183 2,070 4,253 EZels HARN 178 191 369
SR A 5 1 9 IS 31 30 61 SR A 3 1 7
i 512 H73 1,085 S 2,214 2,100 4,314 kil 181 195 376
h34 0 3 042 1,752 32 14 1,798 169 1 3 173
TR HAN 970 920 1,890 INEH AT TE EZIK/\ 2,096 1,958 4,004 [EES HAN 1,477 1,461 2,938
IS DN 8 8 T6 ISEDN I3 T2 75 S A 9 1 I3
i 978 928 1,906 S 2,109 1,970 4,079 i 1,486 1,465 2,951
(H3 15 1 (4 1,529 10 11 1,550 1,208 [§] 3 1,217
A HAN 097 078 1,375 INEFINTE EZIK/\ 3,000 3,010 0,370 BI#ZS EZIKJ\ 1,033 983 2,016
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